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PART | Ciircle youwr clsiice of the correct amswer. You get:

9 A scowe of 4 points for cack covrecs amywer.

gbpﬂﬁ:.:uz Swswer 56 amvwey, or multiple answer .

vy If you swrompty smswer I mEiting, write jour finding in the space Upric
1f pour auswer & correct, you secure 8 full mark of 4. 53 Vi e
mhnwman—unummqmm

o Descomine fhe cocficiest £ @ the wmomsal expansion:
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» Thepmf of 2 random vaiable. X, spvenas f(x)= 3 . Fmd B(X).
s e lal fx=234 V
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<" "Bach of for Baxed G, 1, 113, TV) contains five balls respectivel
: : ly bearing the
doml Mmwa.swum,,“mh:.‘;a

and$. One ball is randomly
one ball bearing an even %
@o.l‘ru D 0.4128 E \/

A 03250 B 0.5780

is randomly selected from the real number set [1, 5].Let A be th
'S '

[1.8,3.5], B be the event thatpg.agdc}ml Am Qmw‘

event that an even

e A number, X,
bel to the interval
digit. Find P(AW BuwC).
« In a state lottery, five digits are drawn at random, one at a time and wi e :
ten digits: 0, 1,2, 3, --,9- If the drawn digits match your five sem:;‘ ‘;g‘xﬁmm t;\::
you are a winner. Find the probability that you win if you have selected 5, 5, 2,2, and 0 \
A 0.0005 B 0.0012 C 0.0004 H)0.0003 i \ A
, A code of six characters has three starting letters that are distinct letters of the al
g : : habet. Its three
finishing letters should be different from the starting letters, but may contai e
f different codes are:.... . R e,
C 4578000 DAEDSEN - B \/

Then the number 0
@ 189805200 B 832500

rds can you form using an arrangement of four A’s, five B's, and six C's , so

'
How many passwo
that all the A’s are before all the C’s?
A 1225 B 2850 @ 3003 D 5005 E
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Given; u=-2, o’ =4 and E(X’)=6. .Find E[(X -u)'].
A 110 B 38 C 4 @ 2 EN
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mmw the emzm,mmnmmg following questions:
l 1;5-30 Points)The pa .m.f. of a dmrm random variable, X, is given as:
s x =234

f,(x) = v-_l
a) Show that c=6.
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whereAmtheevmtthatXxsarmﬂn pleof 3.

d) Find P(A),
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: 2.(5x6=30 Points)A box contains 3 four-sided , 2 six-sided and 5 eight sided dice.

a) Dmdiﬂamdbmlymkmf_rumﬂlebox and is cast.
- shows 1? : ‘
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d is cast. If the die shows 1, what is the probability

What is the probability that the cast die

b) One dieis ranﬂomly taken from the box an

that it was six-sided?
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v il e Tibe R R
e 260

¢) The five eighi-si?zi)dic(e ;7 cazt. \;\f/hat is the probability that there will be a full house?
e lehe) - 292 - |
M % - 2 ..?‘\ =0 014
d) Ifaﬂﬂmten-diceatecast,vvhatis
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the probability that the sum is 11?
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ed from the box. You are offered as many dollars as the number of ‘

€ One di is randomly selected from T56
sides on the die. The price per trial of this game is set at $6.25.BrieflyComment on the

fairness of this price?
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